1/ 11%

NTURHRREEIRTE(202102)

I E%m

H T

=L =
AX
I 5 %

BABHTNMSUR2TH2BENLIBLEET

X # % H

FER

$18 B-2-3, C-1-2-3
123 A-1-2, B-2
I EE

SFI34E(20214F) 8H

Rk | ARE

EE |[RAES

B

RHRAET A XA 1

WMAET L TKER BTl KEERR

|

sl
— AR

Wm X S=1/500

TEME

4,214m

A

H SE
=1/50

sIEA(3) t=5ecm
0/ nt

A5 —hPK-3) 1.20/n
VRBEEIE - 4 A4 RC-40 31i/100nt

JE - B A
FTAL

FA 153 —NPK-3) 1.20/nf
PRpEdE it ik RC-40 3mi/100nt

[ 1 [

BEERIE

A BEEIBETLE A=3,/04m

8
g
RN
=)
K
§| B
M o | ©
g0 0
® g9
I
X |
W E | E
AN
W | 5%
=R 22
=
i
g 1
=l |55
il | g |0 B0 B
G| | KL K
#5959
HI® g g
< x<co
| E | &=
| |
=
A_u_n*,mﬂ)
|
E|E
< |
E
)
~—
ip
I
<
i
I
O
1
Nx—
1]
]
o=
M




